CLASS : 12th (Sr. Secondary) Code No. 2213
Series : SS/Annual Exam.-2025

Roll No. SET : B
A
ECONOMICS
[ T ol A |
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh/Re-appear/Improvement/Additional Candidates)
&7 : 3§72 [ g% : 80
Time allowed : 3 hours | [ Maximum Marks : 80

o PY I F A [ 59 Je7-9H § GRT g 16 7o 597 34 &)

Please make sure that the printed pages in this question paper are 16 in number
and it contains 34 questions.

o Jo7-7H ¥ e & @ G T T8 FS TET Tl § H OH F-Yikaw F FEI-g8 97
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T FH TV [iET J@ VT G Yee, 9T H B AT [
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @Il §i/9 T 85

Don’t leave blank page/pages in your answer-book.

o FTT-GRam & RFT FF T e TE Bl g sravaEdgar & @ G fiar Faw T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o OHTES ST Ul To FIT-FH YT GfFed @) Wl To F AR TG G T Z8 A 7T
[T I dieq Fo7l % FU YT [ FHX B T T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o YT F%7 % I 37 @ g4 TE FAkEd F A & Je7-97 [ T & 8, ThEr F ITT 59
T § 25 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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General Instructions :

(i) The question-paper contains two Sections : Section-A (Micro Economics) &
Section-B (Macro Economics).

(i) All questions are compulsory.

(iii) Marks for questions are indicated against each.

(iv) Question Nos. 1 to 10 and 18 to 27 are objective type questions. Each
question carries 1 mark. Answer these questions as per instructions.

(v) Question Nos. 11-12 and 28-29 are very short answer type questions
carrying 3 marks each. Answer to these should normally not exceed 30
words each.

(Vi) Question Nos. 13 to 15 and 30 to 32 are short answer type questions
carrying 4 marks each. Answer to these should normally not exceed 60
words each.

(vit) Question Nos. 16-17 and 33-34 are long answer type questions carrying
6 marks each. Answer to these should normally not exceed 130 words each.

(viii) Internal choice is available in some questions. You have to attempt only one
of the given choice.

(ix) Word limit is not applicable to formulae, numericals and diagrammatical

questions.
T - A [M. M. :40
SECTION - A
[ &fte rfsme ]
[ Micro Economics ]
[ TGS 999 |
[ Objective Type Questions ]
=T 797 % Gel fawed g -
Choose the correct option of the following questions :
1. IR HFG H FEReT & S s 1
(A)  TTE H (B) < |
(C) i T (D) IR qH
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The market price is determined by :
(A) In the short-run (B) In the long-run
(C) In the very short-run (D) All of the above

2. S HE e §6 @ Bl 8, 9 P IR ol ©
(A) FHD
(B) AferpaH & e @
(C) gt & ¥ sedl &
(D) &t T & Foel &
When marginal production is increasing, then the total production is :
(A) Negative

(B) Become maximum

(C) Increases at decreasing rate

(D) Increases at an increasing rate

3. SUHF F TYA A © :

(A) FERa erfegwen d (B) el Srefereen |
(©) (&)7 (B) A (D) & & P& T
Consumer dominance is in :

(A) Controlled Economy (B) Free Economy
(C) Both (A) & (B) (D) None of these

4. S G b OX & GHMIAR Bl 2, a9 T @l g Bl § ¢
(A) &q (B)
(C) T3 (D) THE | e
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When the demand curve is parallel to OX, then elasticity of demand will be :

(A) Infinite (B) Zero
(C) Unit (D) More than Unit
5. 99 IUEA &R I BT 8, 36 THI GRAcHeNA AFe Bkl © 1
(A) g-THD (B) kUIIHh
(C) T (D) IYAHT Gl
When the production level is zero, than variable cost is :
(A) Positive (B) Negative
(C) Zero (D) All of the above
6. ¢ SRR & a¥g & HFd H FEReT B Q 1
() Fact | (B) daw yfd
(€) T o (D) T & B 7T

In the perfect competition, the price of commodity is determined by :

(A) Only demand (B) Only supply
(C) Both demand & supply (D) None of these
7. ARHET (A) T T (R) B URT R F& ey & waq S ¢ 1

AR (A) : Brat AR § I RRar S, @ SWEA R T @ O 9eq el o

T (R) : TS ST &l g qoeell H T ST ISl 2

R

(A) ARFEE (A) T T (R) A1 9 § T T (R), ST (A) BT Tl TSI 2|
(B) SAREREM (A) T T (R) A1 T &, Al % (R), STHI (A) H Tel LI T8l Bl
(C) SIHN (A) T &, AP d& (R) T8 B

(D) STHIT (A) ST &, A a& (R) T
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Read Assertion (A) and Reason (R) and choose the correct alternatives :

Assertion (A) : How much to produce is not an aspect of what to produce.
Reason (R) : Every economy faces central problems.

Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

8. HHIT STH (MRn) = «evvvvvvvnnnnnn TR, —TR,_1 /TR +Q 1
Marginal Revenue (MRp) = ..ccvvvennnnnn. TR, -TR,_1/TR+Q

9. 3T I AWM © WX FHE 9% & AT FH BN T D HIAT BT .oovonnen. | 1

(%7 B B/ S ©)

When other things remain same, equilibrium price of a commodity will be

................ when its demand will be decrease. (decrease/increase)

10. 9% I FWG q WA B A= HET G g7 A S P 1

What type of relation is found between price and demand of commodity ?
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[ SAfT-<TgR® 989 |
[ Very Short Answer Type Questions ]

11. 97 & gfs & o7 IR Tan) 3
Write three causes of increase in demand.
YT
OR

a7  gis & @ e B 7

What do you mean by increases in demand ?

12. 59 gt ol S@EER @, @ 9§ @99 A6 & EN S S W 98T a SeE &
@ a7 qEE 3

Explain with the help of diagram, the effect of decrease in demand on
equilibrium price when supply is perfect inelastic.

[ TEUHS 999 |

[ Short Answer Type Questions ]

13. Ui & fram & oTverR San 4

Write the exceptions to the law of supply.

STeE
OR

%A IR AR o7 ol ReR AN &1 Iarel |fied s i

Explain total variable cost and total fixed cost with example.

2213/(Set : B) P.T.O.
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YT
OR

T STEIRT 797 -

Competency Based Question :
et I &Y

S () 1 2 3 4 5 6
arm () 20 30 39 40 40 36
e
qimid ™
Complete the schedule :
Production (Unit) 1 2 3 4 5 6
Revenue (3) 20 30 39 40 40 36

Average Revenue

Marginal Revenue

14. qrEias g eSS AAE § FHaX Sam| 4

Write differences between positive economics and normative economics.

STeE
OR

ite 1fee 3 He<d &l U BRI

Explain the importance of Micro Economics.

15. S=av fgia sma aen Feae MeiRa sbg @ aren w3 4

Explain Ceiling and Floor Price.

2213/(Set : B)
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[ € ST 999

[ Long Answer Type Questions ]

16. F ANC 9 GG AR & SAGHN F ARME & 7 3 §9 U W A d9Y H G 6

What do you mean by Total Cost and Marginal Cost ? Explain the relation

between these.
YT
OR

B B 950 Tahd O 7 AR T ? HRE B 95d TAwhd b F-FT R & °

What is increasing return to a factor ? Write the causes of increasing return to

factor.

17. TR 9% Q AYHT 1 ARYE B ? 39 AV sqEy) 6

What do you mean by Indifference Curve ? Write its characteristics.

STeE

OR

0T & BT d A TR FAT AR B ? T JHIGT B ard BRI BT g9 B

What do you mean by Price Elasticity of Demand ? Explain the main causes

which are effects to it.
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T -9 [ M. M. :40
SECTION-B
[ Tfte arefsTe |
[ Macro Economics ]
[ TGS U ]
[ Objective Type Questions ]
=T go7 % Gel fawed g -
Choose the correct option of the following questions :
18. THR &l N A 9 H TF 59 9 ¢ 1
(A) wE (B) wEHE qur Wi
(C) (A)d (B) aFI (D) FH & &8 Tl
Main sources of Non-taxable Income of Government is :
(A) Fees (B) License and Permit
(C) Both (A) & (B) (D) None of these
19. TR g = 1

(A) TR STET — SITST &1 A

(B) VSN HTET + ST & A

(C) VSThINIA HTeT X <A1 1 YA

(D) TTHI HET + ST & P
Primary deficit =

(A) Fiscal Deficit — Payment of Interest

(B) Fiscal Deficit + Payment of Interest

(C) Fiscal Deficit x Payment of Interest
(D) Fiscal Deficit + Payment of Interest
2213/(Set : B)
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20. 99 A & @ B, S 1
(A) TR HIET & (B) SUART FIAT &
(C) T IR A & (D) TRa-fafa & &
Rest of the world sector is the sector, which :
(A) Produce the things (B) Consume the things
(C) Borrow the money (D) Import & Export of things
21. fE 39 A G0 I F AT T A BN B 1
(A) Haq o
(B) forp, e o WY ST
(C) &«
(D) €T @ Al

Total money of a country includes :

(A) Coins only

(B) Coins, Currency and Demand deposits
(C) Bills

(D) Gold and Notes

22. IR MPC = 08, @ T (K) H IF B : 1
@A) =1 (B) =
(C) =2 (D) FEiRe & #T @l
If MPC = 0, then value of multiplier (K) is :
@A) =1 (B) =
) =2 (D) Do not classified
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23. AW H M F I AR A T A9 FHeAr 2 1
(4) = fHaw (B) ARG Fasr
(C) Tnfera et (D) g Fer
Investment motivated by the hope of profit is called :
(A) Net Investment (B) Induced Investment
(C) Automatic Investment (D) Real Investment

24.

25.

AHIT (A) T T (R) B UT AR gef e &1 9o i

ARBE (A) : TF ST g | o AR A & g g 8 1
% (R) : T a5 orferaee 7 b g+ § $i3 e deg i e

fawey -

(A)
(B)
(€)
(D)

AMHT (A) TN T (R) I O & G 0 (R), TR (A) 1 TEl T B
AN (A) T T (R) a1 T &, Al ab (R), SN (A) H T8 TREHT &l 8
e (A) T &, AT d% (R) 19 2

MBI (A) ST B, ARBT db (R) T B

Read Assertion (A) and Reason (R) and choose the correct alternatives :

Assertion (A) : In a closed economy the value of exports and imports are zero.

Reason (R) : A closed economy has no economic relations with the rest of the

world.

Option :

(A)

Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

TR T A HT oo T ¥ (sreere/ ororeer) 1

Goods and Service Tax is a ............ Tax. (Direct/Indirect)

2213/(Set : B)
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26. “Qit oTo A @ Faifa & 817 3w e © 7 (So do &/ wisk) 1
"Supply creates its own demand." Who say this ? (J. B. Say/Marshall)

27. 9T & BT S% B AW T8 ? 1
Write the name of India's Central Bank.

[ S-S 997 |
[ Very Short Answer Type Questions ]

28. 9 FH FJIERT W FA UG TS B 7 3
What are the effects of Budget on Economy ?

YqT
OR

1 B AT o
Write the characteristics of Taxes.

STeET
OR

T STEIRT 797 -

Competency Based Question :

=T olfepel @l TeEaT @ ST =1eT, TSRS g1 qor Srifes =1er &l IO S

Calculate Revenue Deficit, Fiscal Deficit and Primary Deficit with the help of
following datas :

A Gl ud g Go
Sl. No. Items Crore Rs.
1. ST g
Revenue Expenditure 420,840
2. | orE ittt
Revenue Receipts 4,42 980
3. FT T
Total Expenditure 454,380
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30.

31.

(14)
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4. | R For @ g o stk

Capital receipts generated from non-debt

34,230

5. RESRCISERC]
Net Interest Liability

12,120

fricied & g o

() o IR S

(i) HHid ITART g

(iii) o F=d MgRd

Write the formula of the following :

(i) Average propensity to consume
(i) Marginal propensity to consume

(iii) Average propensity to save

[ TEHS 999 |

[ Short Answer Type Questions ]

Y | & g B aU B

Explain the components of Aggregate Demand.

ol sreferaee @ g fgvand qand|

Write the main characteristics of Capitalist Economy.
SLE|
OR

SUHIFT G B g AP & o B

Explain the main types of Consumer Goods.

2213/(Set : B)



32.

33.

34.
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T Y T AR AT F i Fand| 4

What are the differences between Balance of Payment and Balance of Trade ?

3TeE
OR

e IO AT F FIRA B YT FA

What are the measures to correct the disequilibrium in the Balance of Payment ?

[ Y ST 99
[ Long Answer Type Questions ]

e faf STl @ B ? 36 O @ oTgfaE A 6
What is Barter System ? Tell the drawbacks of this system.

STeET
OR

IR S F7 B & ? ARG b a9 HET 9 § AT g
What are Commercial Banks ? Write differences between Commercial Bank and
Central Bank.

TS S A9 1 SR iy &1 aoiF &R 6

Explain the product method of measuring National Income.

3TeE
OR

T fafyr &/ & A}

(a) R A
(b) TS T

2213/(Set : B) P.T.O.
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ikl T (303 ¥)
(i) il 1000
(i) AL 500
(iii) RIS 40
(iv) QATHIT 300
(v) LSRR 40
(vi) SR w4 20
(vii) AT G | At B ANEH 40
(viii) RRESICIETS 40
(ix) foee € Faa ®R® o™ 100
Calculate by Income method :
(@) Domestic Income
(b) National Income
Item Value (in crores)
(i) Wages 1000
(ii) Rent 500
(i) Interest 40
(iv) Dividend 300
(v) Mixed Income 40
(vi) Undistributed Profits 20
(vii) Contribution to social security by Employers 40
(viii) Corporate profit tax 40
(ix) Net factor Income from abroad 100
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